Question Paper Preview
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Number of Questions: 50
Display Number Panel: Yes
Group All Questions: NoO

Question Number : 1 Question Id : 6780945804 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the traces of A and B are 20 and -& then the trace of (A+B}is

Options :

12
-~
- 28

28

[

Question Number : 2 Question Id : 6780945805 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

¢ 1]
10

It 4= s an Invoiutory matrix then x=

Options :
1 0
y =i
. —~1
d, -

Question Number : 3 Question Id : 6780945806 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The determinant of |loge® lozes logs | is

o
|l o log e

Options :

3

-
—

Hoge

L

Slog e

Question Number : 4 Question Id : 6780945807 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1T 4

-2 1 3| then detiwdid =

D1 2
Options :
1 det A

1
_det 47

—dlatr 4

!—'J

([ det A )'

Question Number : 5 Question Id : 6780945808 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f A B are two matrices and AB=B. BA=A then 4~ + B~ =

Options :
1 A+E
 A-B
: AL

;U

Question Number : 6 Question Id : 6780945809 Display Question Number : Yes Single Line Question (dntion : Nn Ontion
Orientation : Vertical

collegedunia:

India’s largest Student Review Platform




A A By+L .
| Cthen - —-FE =

1 —

| ¥ —i-lfJ{_lT:' +3y N+l Z2ym+ 3

If

Options :
3.

1.

.

2

5

Question Number : 7 Question Id : 6780945810 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AR k. 1 .
| = | theh «:b=
(y—aldxy—86) a—a x-=9D

If

Options :
_
=2

R |

12
3.

Aol
4

Question Number : § Question Id : 6780945811 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of ran&357 =

Options :
1

i

—.

I

J2

Question Number : 9 Question Id : 6780945812 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 il ) %
1T taner = and tan & = then ranle+ 1=

e REIFETY

Options :
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Question Number : 10 Question Id : 6780945813 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of Guin 209 —=8«gin™ T0% =

Options :
1. 2
i
NG
NE
3.
|
&
4

Question Number : 11 Question Id : 6780943814 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If Aei@4+dcosf =5 then the value of 4sm & -3¢0z 8=

Options :

U
-

3. ]
2

Question Number : 12 Question Id : 6780945815 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sine function with peried 3 is

Options :
)
SIE

1. 5
. A
SEET

;)

. ;
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Question Number : 13 Question Id : 6780945816 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of 3sin= = Scea- v S

Options :
a!

1.

. 3

v O

.

, 34

Question Number : 14 Question Id : 6780943817 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The eguation J3snx+cosy=4 has

Options :
1_ Qnly one solution
~ two solutions

. Infinite solutions
, no solution

Question Number : 15 Question Id : 6780945818 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

: ) _ _ _ L.
The solution of Cos™ (31 )+Cos o =2 is

Options :
|
-
1.
1
v
1
-
3.
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Question Number : 16 Question Id : 6780945819 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

The value of sin&+sunf +120%) —sh1120° - &)1 =

Options :
1. D
SIEE

'I

I

— 111 7

Question Number : 17 Question Id : 6780945820 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The principal solution of 3 osecA =451mA 13

Options :
1.
T ;
i

mN
: 4
a.

+i7
4.

Question Number : 18 Question Id : 6780945821 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=

: 1 . .
If |-- —1 =\:‘ + 1. then z lies in

Options :
1 The real axis
3 clicle

The Imaginary axis

Lo

a parabola
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Question Number : 19 Question Id : 6780943822 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

(1477 (1= .
If \ — o +{5. then & an b are
. ] —7

SESN

"mm pm, =

Options :

K
2,-2

% {.-2
0.-1
1,

Question Number : 20 Question Id : 6780945823 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

If the line +=2v+ris atangentic +~ — -~ =< then the value of ¢ is

Options :

y 2

L

L

3
=
5

Question Number : 21 Question Id : 67809453824 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The vertex of the parabola v~ +8x+121+4=0is

Options :
[—. 1)

1.

04—

) —4.—1]
W)

4

Question Number : 22 Question Id : 6780943825 Display Question Number : Yes Single Line Question Option : No Option

Orilentation : Vertical
The number of tangents to the ellipse : : '1: =1 through (2.1} 1s

Options :

. O
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Question Number : 23 Question Id : 67809453826 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The fength of the latus rectum of the hvperboia »- — 2y =4 s

Options :
, 2
O
3. 4
. <

Question Number : 24 Question Id : 6780943827 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of the ditameter of the circle ¥ "-_Tj —Gr—81 =0 Ii5

Options :
.10
5 10
5 9
, 20

Question Number : 25 Question Id : 6780945828 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the line 21 =%y +/ touches the parabola - =6+ then k=

Options :

SER

r_;_.l_l__

L
|

| S

4.
&
@collegedunlas
India’s largest Student Review Platform

i



Question Number : 26 Question Id : 6780943829 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[r113 =
I— e 3 —

Options :

]
-

gy £
g

Question Number : 27 Question Id : 6780945830 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

If Ffixvi=il+=x1% is continucus ai v=10 then =

Options :
2
1 °
.
- &£
{Jj
30
1
4 £

Question Number : 28 Question Id : 6780945831 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

()
If v =agsecH v=htrand then — =
Ty
Options :
£
— e G
[
£
—oosec &
5 i)
¥
— 20 7
£
2.
%
cosec
Iy
4.
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Question Number : 29 Question Id : 6780943832 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ey

. o i
If v =¢" then — =

)
Options :
logx
1 1+ 1loex)”
log
o -logx)
—log x
. - o
il+logx)-
]
—1
.
) (1+lozx)-

Question Number : 30 Question Id : 6780945833 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f +=sin "

Options :

-
1+ 3~
1.
|
L+
B,
ﬁ 143
.
a5
[ + 47
g

Question Number : 31 Question Id : 6780945834 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T
The slope of the normal to the curve y=asecf. v=gtand at #=— I8
3

&
@collegedunlas
India’s largest Student Review Platform

i

Options :



1.

0
1L

L

Question Number : 32 Question Id : 6780945835 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The rate of change of area of a circle with respeact to radius when r=5¢m Is

Options :
27 sg.omisec

107 sg.cmisec

1T sg.emisec
£

2Uxr sg.emisec
4.

Question Number : 33 Question Id : 6780945836 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vihich of the following function has maxima or minima®?

Options :

I. n
l..
L

1.

low

L=
—
1

Gt a4

S31% 8
4

Question Number : 34 Question Id : 6780945837 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the Increase In the side of a square 1s 2% then the approximate
percentage Increase In the area of the square Is

Options :

| 2

-
1

e

4
b
-

4
&
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Question Number : 35 Question Id : 6780943838 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
& 7

For the function #i{x)=log’>" + 73 which of the folowing is true?

Options :
T =
ot £ =0
1.
?t.‘{_’- ) "TJ:' = {}

e

¢ ﬂ‘ - f o 2

Question Number : 36 Question Id : 6780945839 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

| cosac” Beot 846 =

Options :
cot” 6
“1
1. =
—coseg” @
. 5
cosec” @
3 3
—cosec’ &
=3 ¢

Question Number : 37 Question Id : 6780945840 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

R .-
* oy
: —
s A=
Options :
™
loe —
1 R
4
log —
A

L3
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x
log —
3. i
E
log —
1
1

Question Number : 38 Question Id : 6780945841 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

£
r I"||.'
If ¢t - 05 then |_‘f~,{1-:

o

Options :

| b—a

B, i —1

s 4D

, U

Question Number : 39 Question Id : 6780945842 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1

&

-1
YAt ATy =

[
Options :
e 1
S
1.
T 1
5 =
s | [
102
3.
T o1
- I '.:I
4 > B

Question Number : 40 Question Id : 67809453843 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
it a
15 < | .
1181 [/, —¢' =
N—si =1 7

Options :

1. ¢
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i1+ et

n
1—e)
3
(e —10
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Question Number : 41 Question Id : 6780945844 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

74
] 5
| sec” vdv =
)
Options :
!
1
28
S
RS-
=
3. 12
]
E
4. 7

Question Number : 42 Question Id : 6780945845 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area bounded by the curve r=Ilogx. x-axis and the straight line

y—¢ =18 sguare units
Options :
1. €
. fe—1)
.
.
11—
4 %

Question Number : 43 Question Id : 6780945846 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The volume of the solid generated by rotating one arch of the curve
1= 5in3y about the x-axis 15----

Options :

"

.-T_
1
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Question Number : 44 Question Id : 6780945847 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :

=3

s 1
—— =5 —
| i A
T

.-:. - [}
A
HTT

=
S
A
IR A N TR
|—7- TI'; +
L e L !

1 =cv—c7 |5 the general solution of tne differential equation

-

- b

Question Number : 45 Question Id : 6780945848 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :
T=31re
1.
1= a4
A=+
3.

The general solution of the differential equation

~

i
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Question Number : 46 Question Id : 6780945849 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation corresponding 1o the famity of curves 1+ = aot
where a and o are arbitrary constants. Is

Options :
(f (71
A
T <Ay
.
(- M
1 — = {}
- l.!;lj-"f; (4
- T i
d-v o (o
-ll. — T
I::':Iql. B - i
3.
AN
— — 17 =]
4 [".J'T.T

Question Number : 47 Question Id : 6780945850 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An Integrating factor of the differential equation

iy Ddv v+ idr =008

Options :

X
5

1

L

e

Question Number : 48 Question Id : 6780945851 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

The differential equation whose solution is 4v~ — B1~.where A.B are
arbitrary constants are of  ----

Options :

| 1% order and 1 degree
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2™ order and1® degree

2™ order and 2™ degree
, 1% order and 2™ degres

Question Number : 49 Question Id : 6780945852 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 T

The general solution of the differential eguation —-4—<=5x=01Is
AT T

Options :

A

V=g cost oy anrle”

L
; . b
o r=ilopcos vt oy SN )T
[ ozs osad T r

N=A0y COs 2oy s T e
3 -

F=iecos 2yt os s Ix)en
& .

Question Number : 50 Question Id : 6780945853 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The particular integral of (=271 =sin 2y is
.
Cors
n

511} o
.

'

—COn

| .0

L

— 511t

|

Plyysies

Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No
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Question Number : 51 Question Id : 6780943854 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The unit of impulse Is the same as that of
Options :
1 moment of force

lnear momertum

L J

force

.

[Fressidie

Question Number : 52 Question Id : 6780945855 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f the force is given by F = at+bt® where t is the time. The dimensions of a and b

dle

Options :

1 MLT™ MLT

MLT™ MLT™

1

MLAT ™, ML“T

)

MLZT™. ML

Question Number : 53 Question Id : 6780945856 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vector parallel to 67 + 87 and having a magnifuae of 5 1s

Options :

| 47 + 3}
127 + 187

1

L.

16: +87

oy

S+ Af

Question Number : 54 Question Id : 6780945857 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

f |4 x 5| = K(AB) then angle between 4 and B is

Options : "
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India’s largest Student Review Platform

i




1 cos K

cos  (1/K)

L J

sinK

I

sin”*( 1/K)

Question Number : 55 Question Id : 6780945858 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cricket ball ts thrown at a speed of 28 mis In a direction 30" above the

narizontal. The maximum neight reached by the all Is

Options :

1 T0 m
. 20m

—

S A0m

.

) 40 m

Question Number : 56 Question Id : 6780945859 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two bodies are projected at angles of 45" and 60 with the harizontal with
same velocity simultaneously. Ratio of thelr horizontal ranges Is

Options :

1 v a2

I_I-II-

2

| 1.2
g 2

L

Question Number : 57 Question Id : 6780945860 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball thrown by a boy 1s caught 2 seconds later by another at some distance

avway on the same level. If the angle of projection is 30¥, the velocity of

&
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Options :



19.6 misec
1.

- 9.8 misec

4.9 misec

oy

5.7 misec

Question Number : 58 Question Id : 6780945861 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A 200 m wide river flows with a velocity of 5 misec. A man crosses the river In

the shortest time of 25 sec. If there iz no flow and he swims with the same

velocity, the time taken to cross the river s

Options :

oW

— e

13

'|

I

2 sec

L

25 sec

L

o —

2o 2 osen

Question Number : 59 Question Id : 6780945862 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body of mass 1 Kg lies on an inclined plane of angle 80" to the horizontal. If

the coefficient of friction 1s 0.4, the frictional torce along the Inclined plane s

Options :

. 198 N

. 0.98 N
049 N
, 0.245 N

.

Question Number : 60 Question Id : 6780945863 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A force of 20 Kg weight Is required to just slide a wooden box weighing 50 Kg over
ice. Then coefficient of static friction between the surfaces in contact Is

Options :

0.2

&
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0.4
0.8
0.1

Lt

J

Question Number : 61 Question Id : 6780945864 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cyelist comes to a skidding step in 10m. Durng thils process, the farce on the

cycle due to the road is 200N and is alrectly opposed to the motion. The work

done by the road on the c¢ycle is

Options :

1000 J
- 20004

1

L k!

-1000J

N

- -2000

Question Number : 62 Question Id : 6780945865 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A sphere of mass 4 Kg Is dropped from a certain helght. After 3s, its Kinetic

gnergy Is =10 mr‘si)

Options :

. 5
50

5 K

| A

J

UK

Question Number : 63 Question Id : 67809453866 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An elevator weighing 500 kg 1s to be lifted up at a constant velocity of 0.20 m/s.

What would be the minimum power of the motor to be used?

Options :

100 W
500 W
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. 980W
300 W

q

Question Number : 64 Question Id : 67809453867 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Al =0, the displacement of a particie In SHM is half its amplituge. lts Initial

phase s (referring to mean position

Options :
it

6
1.

i_lq__;l‘r'—_-l:

|

e

h..n‘:l

Question Number : 65 Question Id : 6780945868 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of seconds pendutum is 100 cm. To have a period half of this valle,

the length 1s 10 be reduced by

Options :

25 om

]

faem

L of

50 om

R

100 om

Question Number : 66 Question Id : 6780945869 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Inside a big hall, the reverberation time Is

Options :

| directly proportional to volume

iInversely proportional o sound absorption

_‘
—

&
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poth airectly proportional to volume

and
Inversely proportional to sound absorption

-
.

) depends on temperature

Question Number : 67 Question Id : 6780943870 Display Qucestion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of [lon is different from that of a mosauito becalise

Options :
. the sounds have different pitch

they are of gifferent size

L J

the two voices travel with different ve.acifies

N

the soungs have aifferent phases

Question Number : 68 Question Id : 6780943871 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A caris traveliing at— m/s and sounds horn of freqguency 980 Rz, The

w U

apparent frequency heard by a police chasing the car at lg mis (v IS the velocity

of sound) Is

Options :

1 Y80 Hz

900 Az

100 Hz
, 1000Hz

L A

.

Question Number : 69 Question Id : 6780943872 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

YWhen ice cube melts and becomes water, the ice-water system undergoes a

change such that

Options :

entropy of the system decreases and internal energy decreases
1.

entropy of the system decreases and internai energy ncre

"
- L

@collegedunlas

India’s largest Student Review Platform

i



enfropy of the system increases and internal energy increases

-
.

antropy of the system increases and Internal energy decreases
4,

Question Number : 70 Question Id : 6780945873 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A mass of 300 gm falis from a heignt of 3 mig=%.= f‘:“:fﬁz}. Assuming that the
whole energy 1s converted into heat, the amount of eat sroduced 15

Options :

1 2 cal

2.7 cal

_4{:3\

s

| 4.2 cal

Question Number : 71 Question Id : 6780945874 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During an adiabatic expansion of 2 mofes of a ¢gas, the change in internal

energy was found to be egual to 100 J. The work done during the process will

be equal to

Options :

1 FA=] L,

. 100
200 J

I

100 J

Question Number : 72 Question Id : 6780945875 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i

The pressure and density of a diatomic gas { y =§ '] change adiabatically from

i 1
(P.d)to (PLd'). If =~ =32, then — is
Options :

1 128

v 32
&
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2 A3

.

4, G4

Question Number : 73 Question Id : 6780945876 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Bovle's law holds good for an ideal gas during

Options :

. Isobaric changes

Isothermal changes

-
|

ISOChoric changes

L

[SOtopIe chahges

Question Number : 74 Question Id : 6780943877 Display Quecestion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The threshold frequency of metal iIs v.. When a light of frequency 4 v, s

Incident on metal then the K E . Of emitted electrons s

Options :

2 u. N
1

3 ‘.1'|_.'-. h

L

Question Number : 75 Question Id : 6780945878 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

superconductors are materials

Options :

y dielectric

. paramaagnetic

ferromagneiic

.

diamagnetic

Chemustey a
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Number ol Questions: 23
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 6780943879 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Paul exclusion prnciple 1s coencerned th

Options :

. Energy of orbital.

opin of electron.

L

Energy of electron

I

Angular momentum of electron

Question Number : 77 Question Id : 6780945880 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to Bohr s mode| of hydrogen atom, the following 1s guantized

Options :

1 Lifnear momentum

Linear velocity

L

Anguiar momentum

I

Anguiar velocity

Question Number : 78 Question Id : 6780945881 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many 'd — orbitals have two perpendicuiar nodal planes

Options :

 Two

Thres

|

Four

L

Flye

Question Number : 79 Question Id : 6780945882 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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n sodium chloride crystal. each Na™ ion is surrounded by

Options :

T O 1ons

Faur O ons

4

Sk G 1ons

e

Eignt ClI jons

Question Number : 80 Question Id : 6780945883 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following moleclis contains a 1 — 2ond

Options :

L

HC

Question Number : 81 Question Id : 6780945884 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vifhich among the following is insoluble in water?

Options :
Alcohol

Ammonia

L

Banzensa

I

Acetone

Question Number : 82 Question Id : 6780943885 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The normality of 2.3 M H.50, salution is

Options :
1 U. 46N
.23 N

L

J

. 2.3 N
@col legedunia:
India’s largest Student Review Platform

i



, 4.8N

Question Number : 83 Question Id : 67809453886 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 grams of substance of moleciular weignt 40 1s dissolved 1in 250 g of 'vater. Then the
moiality of the solution 1s

Options :
0.4

1.

. 0.8

3 0.2

, 05

Question Number : 84 Question Id : 6780945887 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The pH vaiue of U.u5M BalOH» solution 1z

Options :

10
12

I A

. 13
11

Question Number : 85 Question Id : 6780945888 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWhich of the following moleculs is not a Lewis Base?

Options :

e

BF-

L J

NH-

o

L

"e

Question Number : 86 Question Id : 6780943889 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During the electralysis of brine, 710 g of Cl. was iberated at anode. The weight of NaQH

formed
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800

400 g

L

80 g

o

, 4lg

Question Number : 87 Question Id : 6780945890 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

111 the Dannlel cell, «which electrocds acts as anodge’”

Options :
U

1.

. Ad
iy
Pt

4

Question Number : 88 Question Id : 6780945891 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The molar conductance of HZ s more than that of NaCl because

Options :

. Nall 1s maore polar than K

- NaCl s ionic while HCl 1s covalent

lonic mobility of H™ is more than that of Na©

-
.

H™ get hydrated.

Question Number : 89 Question Id : 6780945892 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The units for electrochemical equivalent are

Options :
Jrams=

grams ampere

|

- Coulomi

e

Grams per coulomb

Question Number : 90 Question Id : 6780945893 Display Question Number : Yes Single Line Ohmection (Ontfion * No (Intion

Orientation : Vertical
]
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Zeclite softening process removes
Options :

Only permanent hardness of “~ater
1.

Only temporary hardness of water

—

Eoth temporary and permanent hardness of wwater

-.

L

| The dissolvad gases In permansnt hard ater

Question Number : 91 Question Id : 6780945894 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The permanent hardness of water 15 caused by the presence o
Options :
Eicarbonates of Ca and Mg

. Carbonates of Na and K

Chlorides and Sulphates 2f Ca and Mag.

L

Fhosphates of Na and K

Question Number : 92 Question Id : 6780943895 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The zecondary treatment of water uses to consume wastes in water,

Options :

Fiitration

Sedimertation

L

Chemicals

e

Microorganisms

Question Number : 93 Question Id : 6780945896 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Difficult to monitor and very dangerous form of corrosion s

Options :
1 salvanic

Fitting

&
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ey ce

-
.

Siress
£}

Question Number : 94 Question Id : 6780943897 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWnen Pt and Co are electrically connected, which one gets corroded?

Options :

e
Pt

1.

L

Nore

; both

N

Question Number : 95 Question Id : 6780945898 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

vWhat rubber was invented when Dr. Josepn C. Patrick trnad to make antifreeze?

Options :

1 Methyl rubber

Chloroprens

L

Bruna N

IJ

| Thioksl

Question Number : 96 Question Id : 6780945899 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The first plastic ever synthesized was callec

Options :

| Bakelte

INyion

L

Dacron

L

" Cellulose

Question Number : 97 Question Id : 6780945900 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s a brand of polyester textile finer that is wrinkie resistant and strong

&
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ellulose

Dacron

L

Eakelte

J

Nvion

Question Number : 98 Question Id : 6780945901 Displayv Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

VWater gas 1s a mixture of

Options :

1 H-. + CO
NE-]' (o5

L !

Hg -+ GDE

J

H-+ CHqy

Question Number : 99 Question Id : 6780945902 Display Question Number : Yes Single Linc Qucestion Option : No Option
Orientation : Vertical

Vilhich of the following 12 not a greennouses gasy

Options :

IGE}

COx

L

|

wWaler vapour

)

H4

Question Number : 100 Question Id : 6780945903 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Burning of fossil fuels causes
Options :

Giobal warming
1

Czone depletion

L

- Acid rain

L

Eutrophication

&
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Number ol Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 6780945904 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

As per Rirtenger's law. Energy for orusinng of oz 1 proportional to

Options :
Suriace to volhiane ratio

New surtace area

. (Surface to volunie ratio b
.

5 = .10
] (Surface to volune ratiod -

Question Number : 102 Question Id : 6780945905 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Basis for Heavy media separation 1s

Options :
Specitic gravity ditference
1.
- Wettabiliry
S lan
. Shape
NZe
4,

Question Number : 103 Question Id : 6780945906 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[lmiettite 1= o mineral of

Options :

Thorium

Fungsren

L

T iraiianiig

L

Titanim

Question Number : 104 Question Id : 6780945907 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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Options :

1 Sl

Cak-

L

1100

.

11

Question Number : 105 Question Id : 6780945908 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Comnonly nsed collector m floamtioa 1+

Options :

(Hete acd

1.
~ Pme o1]
Sulpinuie acid
.
; Porassnun ethvl xanthate

Question Number : 106 Question Id : 6780945909 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The mam product of lngh remperatine carbomzation of coal 15

Options :
Coke oven zas

1
Coal tar
AN

3

4 A 0L

Question Number : 107 Question Id : 6780945910 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Blast furnace zas constmte mainly of

Options :

| Na & OO

N & CHy

-

Nl

i CHy &0 (0
| @collegedunias
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Question Number : 108 Question Id : 6780945911 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Eeverbaratory fumace s usad foo

Options :

Stnterig of Iron ore
1.

Steel melting

|

i=AT trearilait

I

Roasting Readuction

Question Number : 109 Question Id : 6780945912 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Furnace etficrencv 15 decreased by

Options :

| Evosos Carbion moiios: e
Exeess air tlow rate
Raducmy curtace heat loss

3
Eroeess turace load

3

Question Number : 110 Question Id : 6780945913 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Pvrometric cone equivaleut (PCE) of a refractory 1s wsed for

Options :

1 F1z10m ppoinr

Spalling reszstancs

[ &

Resistance to slag attack

)

Fassrance 10 £0 atracls

Question Number : 111 Question Id : 6780945914 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

airactory e of ol 111 A basic electile are furiiace 1s
The refractory ez of the bottown 13 a basic elesn e friges 1s
Options :

(o Almnma

&
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Aagnesia

L

“ilies

)

4 Fireclay

Question Number : 112 Question Id : 6780945915 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Following i mtensive proparty
Options :

. Gibbs free energy

Yolme

L

Enrropy

N

Chemical porential

Question Number : 113 Question Id : 6780945916 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Inn thermodynamecs. law of consarvation of anerzv s relatad o

Options :

. Fhud lane

~ecoatod Lasa

-

Firsr Lo

L

Zeroth law

Question Number : 114 Question Id : 6780945917 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The actrvity Coetficient of the selute i dilute solution

Options :

| Tereases witl mcorense of coneautration ot the solute

acreaess with ereass of concantration ot the «olute

L

15 Lty at wafuute dilution

L

Eeimatis constaint

Question Number : 115 Question Id : 6780945918 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
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Options :

T lie 1incldle

1.
_ The top

~ The bottom
.

) Anvehere

Question Number : 116 Question Id : 6780945919 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The free energy change for a chemecal reaction 13

Options :

1 ET Il
- Bl

L o

-RT InK

L

T lnkk

Question Number : 117 Question Id : 6780945920 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fugacity tor an 1deal zas 13 equal to

Options :

| SeTo

Itz Prezssure

L

Tty

!_-.-

[ At

Question Number : 118 Question Id : 6780945921 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For a muln comyponent system. the rern chenueal potennal 15 agquivalent to the

Options :

1 Molar concentration dafterence
Partial molar free energy
Alolar free enerey

3.

, Aolar free energy changs

&
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Question Number : 119 Question Id : 6780945922 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I an adwabatic process

Options :

Temperature clinnge 15 zarn
1 ]

Work done 1s path depandent
_ Heat transter 15 zero
.
] Enthalpy 15 constant

Question Number : 120 Question Id : 6780945923 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Materals worh metallic bondinz are

Options :
Hard aud brittle
1.
~ Duetile under stress
. Lrases
i
having low thermal conductivity
4

Question Number : 121 Question Id : 6780945924 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Burzars vector 1s
Options :

1 Parallel to an edge dislocarion line

Perpendicular to screw dislocation hne

L

Perpendicular to au edege dislocation hne

e

Inclimed to an edze dislocation hine

Question Number : 122 Question 1d : 6780945925 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Hardenability of steel mdicates 1ts
Options :

; Carbon conrent

the depth ro wluch the steel hardens

-'

Hardness

I

&
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Feyrite contelnt

Question Number : 123 Question Id : 6780945926 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Decraase 11 anstenire granl s1ze ml steel meraases

Options :
fpact totghness
1.
Creep strength
. -
. Hardenaluliry
Maclunalbility
4.

Question Number : 124 Question Id : 6780945927 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Solid solutien of carbon 1n sannng 1101 18
Options :
1 Ferrita

Pearlita

-'

A nateqlite

L

Cenentite

Question Number : 125 Question Id : 6780945928 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Followinz eleni=nt 1« austenite staluliser

Options :

| Cobalt

A Jolvbdemun

g—

Chirotiim

e

Nicke]

Question Number : 126 Question Id : 6780945929 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An Fe — 08700 allov s cooled slowly from 1000 U ta room temnperature. The

recititant 1microstractr: Wil consist of

Options :
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100 pearlite

1.
- 30% pearlite — T0%, Ferrite
S0%. Ferrite — 50% . Pearlite
3
35%, Fernire — 659 Pearlite
£}

Question Number : 127 Question Id : 6780945930 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Pererectic reaction among flie followmz 13

Options :
T _ mlmE* o + 3
1.
i {:Iﬁ:‘.'i_-i'lillg (= El
: i .

o+ Loolmg g

I

i+ E‘m}]'mg._

Question Number : 128 Question Id : 6780945931 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Heat rreatinent used for mmproving duenlisy of hardened steel

Options :

Normalizing
8

Armealniz

L

[emperimg

L

Hardening

Question Number : 129 Question Id : 6780945932 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

DBTT of steel con be decreasad by
Options :

Sll=Zero treatnieins

Anueaing

_I
= |

&
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Hardening

-
.

lovermg carbon confent
4

Question Number : 130 Question Id : 6780945933 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

Y ield smrength of a poly ervstalliie meral with an average grom s1ze “g°
Options :

-2
I

1.

L
"
—i

!_-.-

Question Number : 131 Question Id : 6780945934 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Eaw matenal tor mallealrl= ¢qsr iron 1=
Options :
1 Grev cast 1ron

Modular iron

|

Wit cast iron

e

Cast steel

Question Number : 132 Question Id : 6780945935 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Yield pomt phenomenon observead m low carbon steel 15 due to the elewens

Options :

1 Sil1e 0l

C hiromiini

L

v arbon

!_-.-

FPliozplhiorous

Question Number : 133 Question Id : 6780945936 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Femedy to avord weld decav 1 austanine standess staels 15

Options :

&
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Increasing carbon coutent

L.
acreasing Chromium conrent
Lowermg Carbon contenr
.
Increasmgz Nickel conrant
4,

Question Number : 134 Question Id : 6780945937 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

(G etal 15 an allov ot

Options :

Nickel T and Copper
1.

. Copper. Nickel and Zinc

Copper. T and Zing

]

Copper. Nckel and Manganese

Question Number : 135 Question 1d : 6780945938 Display Question Number : Yes Single Lince Question Option : No Option
Orientation : Vertical

Crermiant siver 15 an allov of

Options :

Cu Al & Ax
LAz i & Al

CluNt & i

L

Ao & i

Question Number : 136 Question 1d : 6780945939 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Allovingz element need tor Crvogene application of steel

Options :

| LT
N

L

W

L

N1

Question Number : 137 Question 1d : 6780945940 Display Question Number : Yes Single Line Ouestion Ontion : No Ontion

Orientation : Vertical
]
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A soff maznetic watenal s having

Options :
High permeabality

High coercivity

. High retenuviy
) Low hardoess

Question Number : 138 Question Id : 6780945941 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Sub-zero rreatment s most apphicable mor

Options :

1. steels contammeg <2 0.2% carbon

) cteals not cotaming reramed austeilie
. low alloy steel

. Hizh-speed steel 100ls

Question Number : 139 Question Id : 6780945942 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Sihicon crvetal can be convertred to p-tvpe semi-conductor by doping with

Options :

;  Phosphorous

Boronn

Lt

Carbon

L

Nitrogen

Question Number : 140 Question Id : 6780945943 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Superallovs are
Options :

Al-basad

N1-basad

L

Cu-hased

!_-.-

Zi1-basad

4,
&
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Question Number : 141 Question Id : 6780945944 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Allovmg element that sdufes TTT ¢arve wo lett side 1s

Options :

3 1

-
Mo

3.

3 KD

Question Number : 142 Question Id : 6780945945 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

il -

Nitrding temperatire 13 (]
Options :
1 [ 1500 — 1510
SR0 - 890
. a0 - 950
.
, 300 -—900

Question Number : 143 Question Id : 6780945946 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Miamerer of the Blast tmtiace 15 waxinun ar the

Options :

| Tlhiroat
Haarth

. Stack

.

Bosly

Question Number : 144 Question Id : 6780945947 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Binder nzed tor making iroa bearig pallets 2

Options :

Tar
1.

[ 1ms

|

Beltoiite

)
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. Pl

Question Number : 145 Question Id : 6780945948 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

High top pressure 1 a Blast trmace moreasas ---------- 1 tHie lwot metal

Options :
1 Sulpdn

Silicon

|

Pliosphorons

L

Alanganese

Question Number : 146 Question Id : 6780945949 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Solurion loss reaclioll ooelrs 11

Options :

1 LD steel making

Blast Furnace won making

L

Hot metal pre treatment

)

Disoxidarion

Question Number : 147 Question Id : 6780943950 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Condimon tor Dephospliorisanon of prg 1won 1s

Options :
Oxicdhising and nenrral slag

=ducing and hasic slag

Oxicdising and basic slag

L

Feducing and acidic slag

Question Number : 148 Question Id : 6780945951 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

SSUregarion 15 AXIAILL 1) ==————————- steels

Options :

1 Foalled
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. Capp=d

| Senl-kKilled

.

Rinmiing

Question Number : 149 Question Id : 6780945952 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tapping m L.D convearter 15 at fetperarire ol
Options :

MREET Ry

L1640 ¢

1240 Y¢

L

140 Y

Question Number : 150 Question Id : 6780945953 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Stamless stee] ix most conemonly produced witdy ------ DIOCess

Options :

. VOD
Electric are furnage

AOD

L

BOkE

Question Number : 151 Question 1d : 6780945954 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Manganese recovery i steel makme 15 possible by

Options :

Oxidising slag and lngh temperatars
1.

Oxidizing slag and low remperamre

L

Feducme slag and lugh temperanire

L

Acrche slag and hagh remperaturs

Question Number : 152 Question Id : 6780945955 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Firee pupiriry to g2t remoived m LD steel making 1s

Opti ! .
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1.

L

L

Pliosphorons

Carbon

Stlicon

Alanizaness

Question Number : 153 Question Id : 6780945956 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Final slaz m LI steel miaking 1s

Options :

L

Lo

Reducime

Reducmez and basic
Oxichzing and basic

Basle

Question Number : 154 Question 1d : 6780945957 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Product of direer reduction process 13

Options :

1.

L

)

Ligud iron
Solid 1ron
Wirought ron

SPonEe Hon

Question Number : 155 Question Id : 6780945958 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :

!_-.-

Itoi1 bar and carbon

C o and won bar

Alunnimm and carboi

Carbon and Alununitm

~

i

Anode and cathode 1 the alunnnnnn reduction cell are made respectively of

collegedunia:
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Question Number : 156 Question Id : 6780945959 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Leachme of roasted zine ore 15 done witl
Options :

Concantrated Sulphuric acid
1.

Dilute Sulpliune acid

L !

Fyibure e acid

s

Dihate hivdro chiloric acad

Question Number : 157 Question Id : 6780945960 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Bacrenal leaching 15 useful for

Options :

Leacling of euriched ores
1.

refming of metals

L

fast recovery of metal values

)

i sitn-leaching of low-grade ores

Question Number : 158 Question Id : 6780945961 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Reducig agant m retort procass of Ziue extraction s

Options :

Hvdrogen
L.

Carbon diosde

'

{_oks

)

N TEa1l

Question Number : 159 Question Id : 6780945962 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Parlies process 15 used w the extraction of
Options :

1 A lnnmiinm

|
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Coppear

Question Number : 160 Question Id : 6780945963 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Pidgeon process 15 tor the axtraction of
Options :

[ead

Maznesun

L

T

L

4 Alutnimni

Question Number : 161 Question Id : 6780945964 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Natte smelting 15 used m extrastiz

Options :

1 I eadl

A lnmnm

L

A1ic

[

oSl

Question Number : 162 Question Id : 6780945965 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Carbonvl process 15 used for retmms

Options :
Z11C

L Nickel
Fungzsren

3.

; Noznesium

Question Number : 163 Question Id : 6780945966 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Retming of s1lver 1¢ done by
Options :

Cupellation

Poling

L
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Liguation

-

; oan Arkel metliod

Question Number : 164 Question Id : 6780945967 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[11 the baver's process.bouxitz 15 digestad under prassures usiag

Options :

1 A R11100118

Sulplnuie acid

|

Sodiumn hvdroxide

Lo

Hydrochloric acid

Question Number : 165 Question Id : 6780945968 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cuppig test 15 to hind ------ ot shieet metal
Options :

Elasticiry

Plasticiry

F

Drawabiliny

Malleabalersy

Question Number : 166 Question Id : 6780945969 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Vicksr's hardiess 18 proportironal to

Options :
B,

1.

LD

. 1D°

3.

4, I3

Question Number : 167 Question Id : 6780945970 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fatlure reststance of material m presencs of existing defect 18 zrven by

&
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Work hiardenability

1.

. Eracmre fouginess
s DBIT

, fenstle strengil

Question Number : 168 Question Id : 6780945971 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[t properv vartes with  direchion then sinterial 15 saed to be

Options :
| Lsotropie

ANILOT0PIC

L

Plastic

N

Elastic

Question Number : 169 Question Id : 6780945972 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cup and Cone fracturs 15 observes

Options :

Aagnesiinn
1

2110

L

Loty carhon steel

L

et

Question Number : 170 Question Id : 6780945973 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fociorell harduess on the C scale 15 measured using an mdeantor

Options :

Separe base diatond pyratnd
8

o= q
1207 diamond cons

L

[ Ginny diametar steel ball

L

A diameter steel ball

Question Number : 171 Question Id : 6780945974 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A property that cannot be obtamed trom Tensile test 1s
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Options :
Youngz s modulns

Eichiranee linis

Yield strengtl
3
4 Ultimate tensile strength

Question Number : 172 Question Id : 6780945975 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

-

Faciography teclhmigue of detectuig dafacs 15 reiatad 1o

Options :
| nttraction
L Interference

. Absorption
.

i Ratlecrion

Question Number : 173 Question 1d : 6780945976 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cold vworking of metals decreases

Options :
 Hardness

- Ducnliry
; vield strengih
) Electrical resistancs

Question Number : 174 Question Id : 6780945977 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Eecrvatallizanon ot followingz metal can oconr at roomnl tenperanira

Options :
i

-~ Lead

_ o Lopper

.

4 Nickel

Question Number : 175 Question Id : 6780945978 Display Question Number : Yes Single Line (Yectiaon (OIntian * Na (Intion

Orientation : Vertical
]
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Particle shape obtamed by et gos atomization 13

Options :

1 Anenlar

Spherneal

La

regular

L

Aixed Gpe

Question Number : 176 Question Id : 6780945979 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Followinz i Rolling defect

Options :

Edge cracking
1.

Cold st
Oranze peel

Porosity

Question Number : 177 Question Id : 6780945980 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Worl hardenmiz 1n High stacking - tault energyv metal 15

Options :

. High

I o

L J

Nl

.

Moderare

Question Number : 178 Question Id : 6780945981 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Earmg ts a defect relared 10 meral workmg operation of

Options :

1 Roling

Dzep dravwing

L

Exhnsion

Wire dravwing

&
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Question Number : 179 Question Id : 6780945982 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Spring baclk ettect depends on

Options :

1 Elastic Lt

Dearee of bend

L 2

Bend radms

Slieet thiciciess

Question Number : 180 Question Id : 6780945983 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Flash i a close die forgnzs 1;

Options :
Excess TEI]I]?J erafire

Exeess 113eral

|

nsed tor hilling all racesses

L

15 [aving wiiornl oross secno

Question Number : 181 Question Id : 6780945984 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Extrusion presstire 15 proportional 1o
Options :
Extincion ratio B

Eadilenon mi areq 1

L 2

11 B

L

111

Question Number : 182 Question Id : 6780945985 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followmgz metal workiz 15 an mdirect comprassion process

Options :

: Forzing

- Extrusion

-

&
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Wire draving
3
) stratch fotnumnz

Question Number : 183 Question Id : 6780945986 Display Question Number : Yes Single Line Qucstion Option : No Option
Orientation : Vertical

As per Chvanoy's tule metal solidification tie {f) 15 proportional to

Options :
(WA

L

oy

Question Number : 184 Question Id : 6780945987 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Method used tor makmg S:all Precision castings
Options :

Shell mouldmsz

- Lostwax

Centriingal

L

Die castimg

Question Number : 185 Question Id : 6780945988 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Allowance used for 2asv withdrawal of pattern from would

Options :

1 Naclnme

Phstortion

L

Plyatr

.

Shrinkasge

Question Number : 186 Question Id : 6780945989 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
]
@collegedunlas
India’s largest Student Review Platform

i



Clhaplets ars used for

Options :
1 Directional solidificanon

Alimment of mould boxes

|

SUPPOITINg cores

e

Shear strenzih

Question Number : 187 Question Id : 6780945990 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[n a gatng svstem. the ranio 1:2;4 mdicares tiie areas of

Options :
Sprue : Inzate : Castmng
1
Powring Basiy Inzate | Runner
.
Sre o Bauuier o neare
.
Runner : Ingate (Casting
4.

Question Number : 188 Question Id : 6780945991 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Eutectic Al-%1 castmzs are modified by

Options :

1 Phospluonus

Sodim

L

Sulpdnu

L

Carhody

Question Number : 189 Question Id : 6780945992 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Alununmnn allov melting vses thux of

Options :

| oXides

s1lphides

L

s1licates

Lo
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p chlorides

Question Number : 190 Question Id : 6780945993 Display Question Number : Yes Single Linc Question Option : No Option
Orientation : Vertical

Inproper jommg of o parts of mould canses defect of

Options :

1 Blowhole

Soab

L

Flash

L

Porosity

Question Number : 191 Question Id : 6780945994 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Method used for malkumg Turbioe hicde
Options :
Shell mouldme

Forzinz

|

Die castmg

L

[ivestiment casting

Question Number : 192 Question Id : 6780945995 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Cliemical suerey based weldmg process 1s

Options :

| Electroslas
~ Explosive
% T hernt

, SAAW

Question Number : 193 Question Id : 6780945996 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Pre-heanng duwme weldme aimed to

Options :

1 e cooling rate

. Raduce hieat mput
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Increase heat mpur
3.
) Licrease cooling rats

Question Number : 194 Question Id : 6780945997 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the followmg 15 added to flux waiting of a 2lecwode 1o stabilise the arc

Options :

T
. E.

%10

L

_al)

!_-.-

Ano

Question Number : 195 Question Id : 6780945998 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the tollowmg 1s not solid state weldimz process
Options :

1 Ultrasonic welding

Friction stir weldmg

L J

Flux corad arc

L

Explosrve welding

Question Number : 196 Question Id : 6780945999 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Noi consiunable electrods welding process 15

Options :

1 Cras Meral are welding

. Submerged are welding
 Gas ungsten are welding
.

. Fluxed corad arc weldime

Question Number : 197 Question Id : 6780946000 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Miost easily wealdable allov 15

Options : ’
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1

oy

Staniless stee]

Nild sree]

Al allow

CAsl 1001l

Question Number : 198 Question Id : 6780946001 Display Qucstion Number : Yes Single Line Question Option : No Option
Orientation : Vertical

[11 brazing provess, the liguid merad f1ils the gap b the wabiltrotion of

Options :

1 Grraviry

L f

!_-.-

Presspnre

Capillary

N ACCI

Question Number : 199 Question Id : 6780946002 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Acetvlene ovlinder ¢ filled with a matenal saturated with

Options :

-

!_-.-

Alcohel
Sulplnuie acid

Aceroe

Hydrochloric acd

Question Number : 200 Question Id : 6780946003 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Major problem mn weldmg of Alonunnum allovs 15

Options :

L

Lo

Carbide foruation
Poor elagitical resistance
Poor thermal condnctr ity

xicde filin tormation

~

i

collegedunia:

India’s largest Student Review Platform



